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1.~ Solve the triangle ABC if: = 60°

y Y = 15", & = 6.
Solution. We know that o+ B+y= 180"
Now a0 = 180-B—v = 180" ~60"~ 15" = 1057
By Law of Sines : —%— -0 sin &
s sin B = a = m
B sin 105° 0.9659 -
= V6 Sin 6o = V6. 05660 = V6 x 11153 = 2.731.
. ¢ _ b sin
Again, siny 7 sin B = e o= b:ﬂ;

sin 15° 0.2588 '
= V6560 = V8- ogoe0 = 6 x 02989 = 0.732

Hence | =105", a= 2.73,c= 0.73 |

2. ﬁ=52" ’ Y ‘= 8935’ ’ a = 8935 .
Solution. We know that o+ B+y=180"

Now o = 180-B—y = 180'~52'~ 89" 35 = 38’25

~ By Law of Sines : siZa =s'iZB => by = a.i—ﬁ%
= 8935 ;;";%25 = 6. g:%- - 89.35x 1268 = 11331
Again, sigB = s_ifl yRe = b‘ssi:'lﬁY o
= 133205 11331, 0302 = 11331x 1269 = 14379

Hence | a=28'2%", b = 11331,c= 143.79 |
3. b=125 (, "y =53 o

14

A = 4T
Solution. WeKiow that o+ B +y= 180" . -
Now 8 %=,180-a—y = 180" -47 -53° = 80

.. @ b
By Law of Sines : Sno = smp

‘ . sina . sindT 0.731 :
= a = b 1255 o =125, = 125x 0742= 93

“sinf
. c __b
Again, siny -~ sinp
siny _ osinS¥ 07086 i}
= ¢ = b'sinﬁ = ISW = 125. 0985 = 125 x 0.811 = 101

Hence fB:BO‘ ,a=93,¢c= 161]

Ly = WS
Solution. We know that a+8+y=180 B
Now B =180-a-y = 180° - 42° 45' - 74" 32' = 62" 43

4. c=161 , O = 4245

b L N - sin
Now o B~ siny b o= e sin y
sin 62" 4% 0899 _

= 16.1x 3 53 39" = 16.1xm = 16.1x 0.922 = 14.85
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- a_ b _ p Sina
Again: T T sin B = )"S'“ B
sin 42° 457 0.678 - e .
_ sin42.89 14 8Ex e = 14.85x 07635 = 111
= 485x ooy = ‘11.85>\0.899 14.85 x 0.7635 3

Hence | B=62"43, a= 11.34,b = 14.85 |

5. a=58 , B = 888 , y = 8I'B4

Solution. We know that o+ 3 +y= 180

"Now a = 180-f—y = 180°=88'36"-81" 54" = 59" 30"

) . b sin f3
By Law of C— = = q oo
y Law of Sines sin o sin 3 = b = sin o
S sin 88" 36~ ‘ 0.9997 . .
= X_—_sin 59730 = 53)(6};61—6- =53 x 1.16= 61.49
.o_¢c b sin y
Again, siny ~ sinf = ¢ = b"s.i;r[T
- 615 sin 31° 54° 0.528

xm = 61.5X(—)3§§77~ = 61.5x 0.5286 = 3251
Hence | o=50"30", b = 61.49,c< 32,51 |

The End
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